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Question Number : 1 Question Id : 7559051283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Al(n) interprets analog signal, validates the barcode using the check digit and converts into text.

Options:
, w multiplexer

-~ u demultiplexer

5 % encoder

4 « decoder

Question Number : 1 Question Id : 7559051283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 2 Question Id : 7559051284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is the smallest unit of data representation in a computer?

Options:
1 % Nibble
o o Bit

- u Byte

4 % Word



Question Number : 2 Question Id : 7559051284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 3 Question Id : 7559051285 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The fastest memory accessible by the CPU is:

Options:
. % RAM

> % ROM
- « cache

4 % flash

Question Number : 3 Question Id : 7559051285 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

; = RAM
> # ROM
= « Cache

4 % Flash

Question Number : 4 Question Id : 7559051286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
How many different characters can ASCII provide?

Options:



| ® 256
> % 512
s % 1024

i o128

Question Number : 4 Question Id : 7559051286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

, % 256

, % 512
- = 1024

4 128

Question Number : 5 Question Id : 7559051287 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
If ATT + CTRL + DEL keys are pressed together on a Windows keyboard, then which window is launched?

Options:
1 % Terminal window

> % Command window

5  lask Manager window

4 #% Task Terminator window

Question Number : 5 Question Id : 7559051287 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

afE ALT + CTRL + DEL FfSat & ve Wryr gamar s aF #ie @7 {38 woer amar g2

Options:
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Question Number : 6 Question Id : 7559051288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following is NOT a hardware?

Options:
| % Microprocessor

- % Monitor
2 ® RAM

4 « Microsoft Word

Question Number : 6 Question Id : 7559051288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

, = Microprocessor

> % Monitor
= = RAM

4 + Microsoft Word

Question Number : 7 Question Id : 7559051289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill in the blank with the correct option.

A barcode reader is an electronic device that barcode to a computer.

Options:
, w prints

> o Ieads



5 % manipulates

4 % lnterprets

Question Number : 7 Question Id : 7559051289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 8 Question Id : 7559051290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The communication between a card and a card reader takes place through direct coupling. This leads to:

Options:
, w portability

> u reliability
o o Security

4 w efficiency

Question Number : 8 Question Id : 7559051290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
F15 3R F5 I & 99 TR 9387 FAS & FAeIR ¥ @il g1 THE TE g

Options:

1_&@%

- R ﬁ%m



3 ¥ 2

4 % GBI

Question Number : 9 Question Id : 7559051291 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill in the blank with the correct option.

Digital cameras have a/an lens having variable diaphragm to focus light onto an image pickup device.

Options:
, = electrical system

-  Optical system
5 % photoelectric

4 % sensitive

Question Number : 9 Question Id : 7559051291 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 10 Question Id : 7559051292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

IP camera and web camera are:
Options:

1 « distinct



5 % synonyms
= % similar

4 % Interchangeably used

Question Number : 10 Question Id : 7559051292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 11 Question Id : 7559051293 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In MS Word, Page Break is used to create a:

Options:
1« new page at the insertion point

-~ % Dew page at the bottom of the document
5 % Dhew page that cannot be deleted.

4 = blank page at the top of the document

Question Number : 11 Question Id : 7559051293 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
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Question Number : 12 Question Id : 7559051294 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
To display the Format cells dialog box, you have to press:

Options:

1« Ctrl+1
s % Ctrl+K
s % Chl+2
4 ® Ctrl+D

Question Number : 12 Question Id : 7559051294 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
. Ctrl + 1

, % Ctrl + K
2 % Cirl + 2

% Ctl + D

Question Number : 13 Question Id : 7559051295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In MS Word, 1s a predefined decorative text that vou can add to a document.

Options:
| % ClipArt
> ® SmartArt

= % Charts

4 « WordArt



Question Number : 13 Question Id : 7559051295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

, » ClipArt

> # SmartArt
=z % Charts

4+ WordArt

Question Number : 14 Question Id : 7559051296 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which of the following features of MS Excel 2016 allows you to create small charts that wou insert in individual cells?
Options:

1 Sparkline

> % Slicer
= % Macro

4 % Insert

Question Number : 14 Question Id : 7559051296 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 15 Question Id : 7559051297 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



1s a computer’s ability to perform multiple operations within a given task at seemingly the same time.
Options:
, w» Buffering

> % Spooling

5 » Multitasking

4 w Multithreading

Question Number : 15 Question Id : 7559051297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 16 Question Id : 7559051298 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The first network that planted the seeds of internet was:

Options:
1 v ARPANET

~ #% NSFnet
= #% VNet

4 % INet

Question Number : 16 Question Id : 7559051298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:




1« ARPANET
> % NSFnet
= ® VNet

4 ® iNet

Question Number : 17 Question Id : 7559051299 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Topology in computer network is:
Options:

| « arrangement of computer network

-~ % speed of computer network

5 % capacity of computer network

4 % Vvolume flow in a computer network

Question Number : 17 Question Id : 7559051299 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 18 Question Id : 7559051300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following methods is used to connect a remote computer?
Options:

1 # Device connection



o  Dialup
- u Logic path

4 # Remote method

Question Number : 18 Question Id : 7559051300 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
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Question Number : 19 Question Id : 7559051301 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
is a connecting socket outside the system into which different types of cables are unplugged.

Options:
1 « Port

» x battery
3 % Device

4 % Peripheral

Question Number : 19 Question Id : 7559051301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 20 Question Id : 7559051302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Measurement of picture size or screen resolution is done in

Options:
1 % blocks

5 o pixels
%z % Iframes

4 ® Views

Question Number : 20 Question Id : 7559051302 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 21 Question Id : 7559051303 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
What is a cipher text?

Options:
; w Cipher text is a regular text.

> % Cipher text is a normal text.

-  Cipher text is an encrypted text.



4 » Cipher text is a plain text.

Question Number : 21 Question Id : 7559051303 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
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Question Number : 22 Question Id : 7559051304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is NOT an operating system?

Options:
; = Real-time operating system

> % Palm operating system
5  Vveb-based operating system

4 ®% Windows operating system

Question Number : 22 Question Id : 7559051304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

. » Real-time operating system (fTeerss AR Fren)
, « Palm operating system (97 3TfeeT fawes)

. » Web-based operating system (35-8F8 HTofesT fAwen)



, « Windows operating system (fasis amfeer fawe)

Question Number : 23 Question Id : 7559051305 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
When “What is visible to end users is deviation from the specific or expected behavior’, this is called:

Options:
1 ® anerror

> « a failure
3 % adefect

4 % afault

Question Number : 23 Question Id : 7559051305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 24 Question Id : 7559051306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Identify the operating system in which users may encounter bomb errors when operating the computer.

Options:
1 % Android
> % Unix

=z o Mac OS5

4 % Windows



Question Number : 24 Question Id : 7559051306 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1 % Android
- % Unix
=z « Mac OS

4 % Windows

Question Number : 25 Question Id : 7559051307 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following is NOT a benefit of customised user account?

Options:
1 « Shared access to the files

- u Privacy of the files

= # Customised environments

4 ® Security

Question Number : 25 Question Id : 7559051307 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 26 Question Id : 7559051308 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



A directory within a directory is called
Options:
; w Mini directory

> % Junior directory
5 » Partdirectory

4 « Subdirectory

Question Number : 26 Question Id : 7559051308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 27 Question Id : 7559051309 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following is an extension of Multiple Network Graphic?

Options:
1 ® .mn

> % -mngd

Question Number : 27 Question Id : 7559051309 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:




., % -mngd
3 % N9

4« -MNg

Question Number : 28 Question Id : 7559051310 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following is used to read an HTML page?

Options:
1 « Web browser

> % Web server
=z ® Web matrix

4 % None of the given options

Question Number : 28 Question Id : 7559051310 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 29 Question Id : 7559051311 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

If you have shared a photo on Facebook, then you have that photo.
Options:

1 % downloaded



5 of uploaded
- % printed

4 % saved

Question Number : 29 Question Id : 7559051311 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
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Question Number : 30 Question Id : 7559051312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In a full duplex modem, there are carriers.

Options:
=

1. ¢ <
2&34

- % mnany

4 # even number of

Question Number : 30 Question Id : 7559051312 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
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Question Number : 31 Question Id : 7559051313 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The convenient place to store contact information for quick retrieval is:

Options:
, » Message box

> % Address box
= « Address book

4 % Quick box

Question Number : 31 Question Id : 7559051313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 32 Question Id : 7559051314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
When computer users a document, they change its appearance.

Options:
1 % edit

> % create

2 % save



4 « format

Question Number : 32 Question Id : 7559051314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 33 Question Id : 7559051315 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
When you copy and paste MS Excel data into an MS Word document:

Options:
| « Youwill be able to edit data using word editing features

5 % you will still be able to use Excel menus and toolbars to edit the data

- % it automatically gets updated when data in Excel changes

4 » ahyperlink is automatically created

Question Number : 33 Question Id : 7559051315 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
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Question Number : 34 Question Id : 7559051316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
By using which tab can you add macros in MS Word document?

Options:
, % EDIT
> % FORMAT

s % REVIEW

Question Number : 34 Question Id : 7559051316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
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Options:

, » EDIT

, = FORMAT

- = REVIEW

4 v VIEW

Question Number : 35 Question Id : 7559051317 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
1s used to quickly jump to a specific location in a document.

Options:
1 % View
> « Bookmark

5 » Hyperlink

4 % Search

Question Number : 35 Question Id : 7559051317 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
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Options:
1 # View

- « Bookmark

5 % Hyperlink

4 % Search

Question Number : 36 Question Id : 7559051318 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What is the left and right margin of a page when Narrow option is selected while printing a document in MS Woud
bR
Options:

; % lem, 1lcm

5> R lem, 0.5cm
z ¢ 0.5cm, 0.5cm

4 R lcm, 1.25cm

Question Number : 36 Question Id : 7559051318 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
; » 1cm, 1 cm

- % 1cm, 0.5 cm
- 0.5 cm, 0.5 cm

4 % 1 cm, 1.25 cm

Question Number : 37 Question Id : 7559051319 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which function returns the inverse hyperbolic cosine of a number in MS Excel?



Options:
1 % HCOS function

®

HINVCOS function

ra
B

INVCOS function

L
®

4 « ACOSH function

Question Number : 37 Question Id : 7559051319 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

MS Excel H FIF A GFI T HEIT F G B FIEEST 3T 27

Options:
, ®» HCOS wFr=

> % HINVCOS %
5 % INVCOS weaers

4 v ACOSH W

Question Number : 38 Question Id : 7559051320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the key combination to decrease the sound volume in MS PowerPoint?

Options:
1 ® AT+ A

> o ALT +Down
z ®# ALT+U

4 % ALT+S

Question Number : 38 Question Id : 7559051320 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

MS PowerPointﬁﬁﬁﬂmW#ﬁ?a;ﬁﬁmmﬁ?

Options:

. % ALT + A



- « ALT + Down
z % ALT + U

4% ALT + S

Question Number : 39 Question Id : 7559051321 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the key combination to align all objects to the left edge of the last selected object in MS PowerPoint?

Options:
1 % ALT+FI

5 o ALT+1
s % ALT+2

4 % ALT+3

Question Number : 39 Question Id : 7559051321 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

MS PowerPoint # 3t 0fas siesrre & =10 Bt o1 weft siemae = Fif89 =14 & B &=
TS FOT &7

Options:

. % ALT + F1
> @ ALT + 1
2 % ALT + 2

4% ALT + 3

Question Number : 40 Question Id : 7559051322 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which tab in MS PowerPoint is NOT available on the left panel when vou open a presentation?

Options:
1 « Notes

> % Outlines

= % Slides



4 » Reading View

Question Number : 40 Question Id : 7559051322 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
MS Power Point & =77 3= Tl Soioee & ©90 £ oF #iF 7 &= o0 499 & 9y JE 2T

Options:
1 « Notes

> % Qutlines
2 % Slides

, » Reading View

Question Number : 41 Question Id : 7559051323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the key combination to align selected objects to the top edge of the last selected object in MS PowerPoint?

Options:
1 % ALT+F4
> « ALT +FI

s % ALT +F3

4 % ALT+F2

Question Number : 41 Question Id : 7559051323 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
MS PowerPoint 3 I0Tad #ieses &7 a0 oOl@a deage & oY =0 & oy 9l == F B

Options:

, % ALT + F4
> v ALT + F1
- % ALT + F3

4 % ALT + F2

Question Number : 42 Question Id : 7559051324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
Which of the following events is in the right order to edir the legend entries in the Select Data Source dialog box?

Options:
; « Select Chart> Select Data > Select Data Source > Legend Entries

- % Select Data > Select Chart > Select Data Source > Legend Entries
= » Select Chart > Select Data Source > Select Data > Legend Entries

4 % Select Data > Select Data Source > Select Chart > Legend Entries

Question Number : 42 Question Id : 7559051324 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

TTH 22 WA A T59 # HYE (7193 SRS # gun w § B e # 8 B 3w e
Options:

, TIE F TISA > ST & TS > ST A & =94 > F{Ia Ffafeear

1. o8

- STeT & 99 > FIC & 944 > ST G #9494 > {IE grafeedr

. T F TIF > S WG F FAA > ST F =TI > HF TS

, » STET H TUA > ST WG H WA > FC F =TI > HF TS

Question Number : 43 Question Id : 7559051325 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which of the following evenis is in the right order to *change the scale of horizontal axis in a chart® in MS Excel?
Options:

, « Click chart > chart tools > format > current selection group > format selection

- % Click chart > chart tools > format > format selection > current selection group
- » Click chart > chart tools > current selection group > format selection > format

4 % Click chart > chart tools > format selection > current selection group > format

Question Number : 43 Question Id : 7559051325 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Frafafaa # & #i17 Or 9297, MS Excel ®, 'S¢ # &3 senmr (Fiis=e vienw) & oftmmwr #
ofEa ¥ §EYU H T FH H 7

Options:

M

L ¢ L e
e W fFefeh Y > =MC & 3IR0T > TGN > TdA I I > TRAT FH =TT

2 R
L ¢ C i
e W Fefeh &Y > FMC & ITROT > TGN > TGN H =T > TIA =0 I

z ®

o R Fod F > AT F 3T > TAAS TIS AT > TRET F AAS > TG

4 %
4 & C L
AT 9T Foes 7 > I F 3907 > FGET & 9399 > 997 T4 T > FTAET

Question Number : 44 Question Id : 7559051326 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
chart type is appropriate to compare the consumer spending in muitiple categories of vour market against vour
product distnibution and focus i M5 Excel.

Options:
1 « Radar

> % Line
- % Surface

4 % Doughnut

Question Number : 44 Question Id : 7559051326 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

MS E:-:celﬁm#a@uﬁﬁmmwwﬁm#mﬁmtmﬁﬁﬁﬁ
FENF T 9FH T 9 3999 BT Bl

Options:

| v BR
o & ONge
5% a5

4_%%



Question Number : 45 Question Id : 7559051327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In MS Excel, under which of the following conditions a pie chart is NOT recommended?

Options:
; w None of the values that you want to plot are negative

> % Almost none of the values that you want to plot are zero values
5 % You do not have more than seven categories

4  You have multiple data series that you want to plot

Question Number : 45 Question Id : 7559051327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
MS Excel #, 7 & ¥ B9 & ggg o5 = & fBwier 78 fr ser 22

Options:

| T AN IEEA T S @ A F W A o TEReAE 7 @ v

L 3R SERT HTOIGE [T o W@ Hedl # § o R & ol 7ed T g g

L x 39 I8 F@d § 3O 97 T 747 2

, HT9 9TH 3TORE & STeT HT agfaes Suer 3qeme ¢

4

Question Number : 46 Question Id : 7559051328 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Cells A1, B, C1, 21, El contam 3.5, cal, mal, mater and cells A2, B2, C2. 02 E2 conlain A, B, . Tx E. Whal will be
the ourpur of the pction HLOOKUP (4: ALE2: 21 0) in an OpenOffice Calc?

Options:

1 8 C



Question Number : 46 Question Id : 7559051328 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
¥a Al, B1, C1, D1, E1 # 3, 5, cat, mat, matter & 3T W& A2, B2, C2, D2, E2 ¥ A, B, C, D, E
g1 HM HifE #FeF (OpenOffice Cale) # wF HLOOKUP(4; AVL:E2; 2; 0) & F1 HIFTqT 292

Options:

1 % C
- ® A
o % D

L v #N/A.

Question Number : 47 Question Id : 7559051329 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The cable broadband operates:

Options:

, w efficiently on remote locations

> « over coaxial cables
3 % for free

4 # for social cause

Question Number : 47 Question Id : 7559051329 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

HaoT F=aS =T AT g

Options:

| SEY TR O AT T J

5  FITFEHT Faol 9T
IERICED
= ® . |

4 % THATSAS 3297 & o0

Question Number : 48 Question Id : 7559051330 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Cable Broadband is offered by :
Options:

, w Videsh Sanchar Nigam Ltd. (VSNL)

> % Bharat Sanchar Nigam Limited (BSNL)
5  atelevision provider

4 % the Indian Government

Question Number : 48 Question Id : 7559051330 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Hael Fsas TART 3T FIETAT AT 2

Options:

[y g=R faew fAfdes (VSNL)

, « #a #ER fe ffdes (BSNL)

5 v Colfeate Jerar

4 # AT TR

Question Number : 49 Question Id : 7559051331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The two types of DSL are:

Options:
, % highspeed DSL and low speed DSL

- % digital DSL and analog DSL
- % asynchronous DSL and synchronous DSL

4  asymmetric DSL and symmetric DSL

Question Number : 49 Question Id : 7559051331 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

DSLF TR M # d g o &2

Options:



, » drg oifa DSL 3R &= a1fa DSL

. » T3T5eer DSL 3k vamerer DSL

oo DSL AR geasiioss DSL

3 R

. v ¥GAEAT DSL 3Rk wafAa DSL

Question Number : 50 Question Id : 7559051332 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

By plugging in the standard telephone port located on the rear ong end of a phone cable from the wall gutlet of vour
computer and connecting o internet is a;

Options:

, « Dial-up

> % Satellite
5 » Fiber optic service

4 % DSL

Question Number : 50 Question Id : 7559051332 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
9 F42L FT AN HETeE 4 B FE9 F Uod o W e aes eE 9 § oo &1 g2
H S FOFT FET A 47

Options:
|« ETOe-31T

, x HEART (ITE)

. x B 3IfCesd Far

. = DSL

Question Number : 51 Question Id : 7559051333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Symmetric DSL (SDSL) equally provides:

Options:



, % accommodation of high number of users

> #% accommodation of limited number of users

5  faster upload and download speeds

4 ® Secure transaction

Question Number : 51 Question Id : 7559051333 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

HATAT DSL (SDSL) AT §9 ¥ F4T Y& &dm &7
Options:

% N TEAT F IAEHATHT F TATAST

. » TIAT @& H ITAEHAHT F GAGSS
- v TR AFTeE HR sEAArE iy

4_$§Tﬁ%?rﬂ?lﬂ?r

Question Number : 52 Question Id : 7559051334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which alignment helps in assigning all your data in the middle?

Options:
, w Middle alignment

- » Proper alignment

5  Centre alignment

4 = Justified alignment

Question Number : 52 Question Id : 7559051334 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

FidT TT GIQUT {9 T 227 &7 99 7 Afese 73 & A = 27
Options:

. » A gxgor
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Eead the given passage and answer the questions that follow,

The Bill of Fare

Sarah™s mosr successful battles were won al Schulenberg®s Home
Restanrant where she often dined.

Ope winter evening, Sarah was sifting at Schulenberg™s and crying
over the bill of fare-— not because her favourite oyster or ice cream
was not on the list but perhaps the story was going to be different.
The bill of fare was absolutely unreadable, No one could tell if it was
in English or German. And. if people were not careful they would
perhaps order ice cream in place of soup.

Sarah was so irritated that she carried the bill of fare to her room_
Wext day Sarah showed Schulenberg a card with the bill of fare
beautifully typewntten, The Tood items were listed in the most
attractive style.

And the last line said; Not responsible for overcoats and umbrellas.
Schulenberg was delighted. Instantly he stmck an agreament. Sarah
would provide typewritten bills of fare each day for each table. In
retum Schulenberg would send food to her room three times a day so
that she did not have 1o sfiv out in the cold.

Schulenberg™s customers were hiappy (oo, Now they knew what they
wers ordering.

One day while typing the list, she came to the last item “Dandelions’.
Instantly tears rolled down her cheeks, They reminded her of the
spring when Walter, the farmer, had lovingly crowned her his quesn

and future wife with Dandelions.

Walter had not visited or written to her since then.

She forced the tears back and got back to brping.

That evening, aller dinner. she heard the doorbell ring. The landiady
answered it.

Sarah heard a strong voice, I8 was unmistakably ber farmer, Waller,
She dazhed up three steps at a fime and embraced him tightly.
“Why did you not write all this time?" she asked.

“1 came to the lown a week ago but could not find you at your ald
address.™

“How did vou locate meT™

e held out the card and pointed at the letter *W".

“When I saw this I instantly knew whoe had tvped. Your type writer
always tvped W above the line.”



Sub questions

Question Number : 53 Question Id : 7559051336 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Sarah cried over the bill of fare because:
Options:

, % Oysters were not on the list

> # Ice cream was not on the list

- % her favourite soup was not on the menu.

4  she had to struggle hard to read the menu.

Question Number : 54 Question Id : 7559051337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In return for her typing services Schulenburg agreed

to:
Options:
1 # serve her food free of cost

> « serve all meals in her room

- % cook her favourite dishes each day

4 % serve her complimentary ice cream each day

Question Number : 55 Question Id : 7559051338 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
While typing the word ‘dandelions’ Sarah started crving

because:
Options:
1 % she had lost her crown made of dandelions

- % she could not afford to buy a dish of dandelions
-  She was reminded of Walter’s wedding promise

4 % shewas tired of typing the bills of fare every day



Question Number : 56 Question Id : 7559051339 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
How did the nature reward Sarah for her small act of

kindness in a big way?
Options:
, w Schulenberg’s could boast of quality service.

- % Customers could now read the menu.

- % Sarah got her meals served in the room.

4 + She could reunite with her lover Walter.

Question Number : 57 Question Id : 7559051340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The fact that Walter located Sarah from the typed

letter “W” on the bill of fare proves that he was very:

Options:
1 « observant

- % intelligent

- % cunning

4 ® Wise

Question Id : 7559051335 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Juestion Label - Comprehension
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Sub questions

Question Number : 53 Question Id : 7559051336 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
T O F @ & fug J F37 Rea?

Options:

| TS T A A A
L« HIEH FH G A A A
. x 3 THARET T Hef H AL M

, v 30 T e & T F2 Agd Fr 95 oA

Question Number : 54 Question Id : 7559051337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

3FehT TrSfeT Fam3ft F Tl A eI F
=T Har?

Options:

Ep= ﬁ-‘fiﬂm T JEIT HLAT

1 %

- v TATT SS9 38+ FAL H 3909 FIaE

- » GTdTeeT 3T THEET SU Tehlel

, » Al 38 AT HBH FHH 3T FHLETA

Question Number : 55 Question Id : 7559051338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

ST Weg F =T T THT AR & VAT F4
AT F e

Options:

| % 30 s2foma § §4T 39AT a1 @ e ot

Jg 3o Tshad @iea &1 =80T Ted dJal
g_wm
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Question Number : 56 Question Id : 7559051339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

SHia & WRI & HH 3HHN ZATE & DI & FH &
for a2 3l & g Far 2

Options:
OISR HIAT [T HT IUTEedr H TG FT Hebell
1 ® AT

o x TTEH HE Hel TF Tehd o

- % ORI & §AISd 38k FAL H FHelad 9]

4Jagmﬁﬁﬁrm#wgﬁ:ﬁm'ﬂﬁrl

Question Number : 57 Question Id : 7559051340 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

et & T &7 9T 9 & O 97 a9 &w ov
IEE 'Seed W TENAT, TE dLT Hiad HT ¢ & @
CE h

Options:

1_;_?%
E_Wm

z #& lellh

QUANTITATIVE AFTITULE

Section Id : 755905149
Section Number : 3



Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 755905149
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 7559051341 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The ratio of the speed of a car, a train and a bus is 5 : 9 4. The average speed of the car, the bus and the train taken

together is 72 kivh. What is the averags spead of the car and the train taken together?

Options:
1 #® 82 km/h

> % 78 km'h
3 « 84 km'h

4 # Cannot be determined

Question Number : 58 Question Id : 7559051341 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

FW, ¢ AT F7 & 7T F HF 5:9:4 &) FH, g HT IF F vF Wy Hwa 93 72 kmh &1 FW
it i v Ty ey o e T

Options:

. % 82 km/h
., « 78 kmih

- v 84 km/h

Question Number : 59 Question Id : 7559051342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What approximate value should come in place of the question mark (?) in the following question? (You are NOT
expected to calculate the exact value.)

321 X2799 549 +120="7



Options:
1 % 220

5> 284

Question Number : 59 Question Id : 7559051342 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
frATallE T & Wi e (?) & FE 9 HFAA 39 F07 E@E SIR? (H9H B A #
TOTAT A FAAT &)

32.1x 2799+ 5494 120="7
Options:

, % 220
. v 284
s % 375

. % 505

Question Number : 60 Question Id : 7559051343 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What approximate value will come in place of question mark (7) in the following guestion? (You are NOT expected to
calculate the exact value )

150 199 1&

1¥ 13 1

=7

Options:
1 ® 650

o R 700

4 % 820

Question Number : 60 Question Id : 7559051343 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



feafafeT o # v 7T (7) & B W 3EAeS A S Gl aeT? (3T W R A
TUTAT ARl FLAT 21

150 133 16

17 13 21

?

Options:

| % 650
, = 700
2 & 770

. % 820

Question Number : 61 Question Id : 7559051344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Solve the following two equations and find out the valwes of x and y and select the option that gives the correct answer,

I 16x* +20x+6 =10
I 10y* + 3By + 24 =0
Options:
& XY

2w XY

L
®
o
Fa
"t

o
®
.
| %
R

Question Number : 61 Question Id : 7559051344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

FrRTaTGe & WHEEOT F1 #9 FL 70 x #K y & T A9 H AT 57 FFew I S 78 3090 & A
|| léx*+20x+6=0
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Correct Marks: 1 WrongMarks: 0
What will come in place of question mark (?) in the following equation?

65% ofv3136 X5 =7 + 154
Options:
1 ® 56

o o 28

Question Number : 62 Question Id : 7559051345 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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f=faf@a e & Taf=ea (?) & T 9T F4T HIU?
V3136 FT65% X 5 =2 + 154

Options:

1 ® 56
ST ] 35

g4 32
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The adjacent angles of a parallelogram are in the ratio of 5 : 7. The larger angle of the parallelogram is equal to the

targast angle of a riangle. The amallest angle of the friangle is 407 lass than the smallest angle of the parallelogram.
What is the measure of the second largest angle of the triangle?

Options:

1 ® 30°

> v 40°
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1 ® 300
2 v 40°
T ® 55":I
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Study the following amangement carefully and answer the question given below.

WIRWAIEFTMT2I9BH3IASOFQIDGOUST

It the positions of E and A ars mterchanged and simtlarly the positions of R and U are interchanged. then how many

symbols will be there gach of which is either preceded or followed by a vowel?

Options:



~ % One
= % Two

4 « Three
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Study the following letter-number sequence to answer the question below.

E&EGBDMANKH2ACZSV3FIILOQ5PR

What will come in place of question mark in the following sequence?

GDR BMP D45 7
Options:
, v MNQ

> % 4NQ
s ® MKO

L % M4Q
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A T a7 9o 1 IeR & & v AT ER-TE HgHH H FeThA F
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FART amer & 927 Red (?) F T | F7 3R
G DR BMP D45 ?
Options:

L ¢vMNQ
. % 4N Q
2% MKO

L% M4Q
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Answer the question referring to the symbol-letter-number sequence given below.

2PT@S8SLBIV#Q6§GWIKCDO*£5FRTAY 4

P@ListoY 7 5 in the same way as $ 1 # is to:

Options:
, % R£E©

> % FE£3

g

z ® 5E

4+ Fe*D
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Among the following words, which one will come third when thev are arranged 1n an order as they would appear in an
English dictionary?
Options:
1 ® Pillow

o o Pilgrim

5 w Pigment

4 % Pile
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Options:

1 = Pillow

-  Pilgrim

5 » Pigment

, = Pile
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IT letters from A Lo M were writlen, leaving space for one letler bebween every two letters, and then the remaining letters
were inserted, beginning with N and ending the series with £ after M, which letter would be exactly in the middle of the
eighteenth letter from the beginning and the fifteenth from the end?
Options:

1. % G
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28 men ¢can complete a piece of work in 13 days and 15 women can complete the same piece of work in 24 davs. What
15 the ratio of the amount of work done by 30 men in | day to the amount of work done by 18 women in 1 day?

Options:

58 21550
w8 15521
=8 T
49 10:7
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. % 21:50

> % 15 : 21



3%-3?3

4ot 102 7
GEMERAL AWAREMNESS
Section Id : 755905151
Section Number : 5
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 755905151
Question Shuffling Allowed : Yes
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Correct Marks: 1 WrongMarks: 0
With reference to a grouping of countries known as BRICS, consider the following statements.

1. The First Summit of BRICS was held in Rio de Janeiro in 2009.
2. South Africa was the last to join the BRICs grouping.

Which of the statements given above is/are correct?

Options:

; % 10Only

> o 20Only
z % Both |l and?2

4 % Neither 1 nor 2

Question Number : 70 Question Id : 7559051353 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



e & v & 1a &2f & ¥ & "o H, efafaa Fual | =R w3
1. form &7 vger Ry w@edes Rar & saRar # 2009 7 amaifea far aar o)
2.BRIC & §Hg # ofaer g & forw gféror anfrer sifas o)

R RTaTFEIF TR aTEr g/ 7

Options:

| % hael 1

> v HAA 2

- » a1 3R 2

Lw dar1 AT

Question Number : 71 Question Id : 7559051354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following games is Davis Cup associated with?

Options:
, w Volleyball

> % Badminton

3 « Tennis

4 % Handball
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Correct Marks: 1 WrongMarks: 0
Why do fold mountains have enormous thickness of sedimentary rocks?

Options:
; w Itisdue to deposition of sediments in a valley for millions of years.

o> It is due to accumulation of sediments in a geosyncline.
5 % [Ihe plains were folded into mountains

4 % The sediments were folded into recumbent and nappe
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Bleg AT3CH ﬁmﬁrﬁ@rﬂéaﬁmm@?ﬁ#
Options:

|« oT@r Fu F B 9 F dade F FHE F HRO

. TF -3 Y@ H EEET F §ET F FROT
. » HeEl & g H g U A & HROT

o TG S FT ATH Told HTER0T & T ot ¢
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Correct Marks: 1 WrongMarks: 0
Consider the following statements.

l. Glacial valley floors are flat and their walls steep, i1 contrast to the V-shaped valleys of many mountain rivers.

2. Unlike rivers, valley glaciers at coastlines mayv erode their valley floors far deeper than sea level.
Which of the statements given above is‘are comect?
Options:
, » lonly

> w 2only

3 « Both | and 2



4 % Neither 1 nor 2
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Match List — I (Minerals) with List — II (Places of occurrence ) and select the correct answer nsing the codes given
below the list:

List =1 List=II
A, Gondwana coal 1. MNevveli
B. Liznite 2. Lohardagea
. Mineral oil 3. Talcher
D). Bauxite 4. Kalol

Options:
. %« A-1.B-3.C-4,D-2

, * A-1,B—3,€-2,D-4
, x A-3,B—1,C-2,D-4

Lo A-3,B-1,C—4,D-2
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What are the ten commandments of 42%¢ constitutional Amendment Act called?
Options:
, w» Fundamental Rights

> « Fundamental Duties
- » Panchayati Raj Principles

, = Directive Principles of State Policy

Question Number : 75 Question Id : 7559051358 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 76 Question Id : 7559051359 Question Type: TYPING TEST Display Question Number : Yes

Surmrmer camps are supervised camps conducted to entertain as well as equip students with various life skills
such as tearmwork, socializing, decision making, independent and responsible living and more. [t aids the
overall development of a child and children hawve fun during this process as they get to explore new arenas.
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Section Number : 1

Section type: Typing Test
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Number of Questionsto be attempted: 1
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Question Number : 77 Question Id : 7559051360 Question Type: TYPING TEST Display Question Number : Yes

Healthy lifestyle is the need of the hour. While it came easy to the earlier generations, these days people find it
hard to follow a healthy routine, owing to the fast paced life. People are working hard, partying harder and
doing everything apart from taking care of their health. It is time we rmust take our health seriously. 4 few
healthy habits can help you develop a healthy lifestyle over a period of tirme. Healthy habits that must be
followed are mentioned below. Follow a healthy diet plan. Following a healthy diet plan is of utrmost
importance when you are trying to live a healthy life. Begin by following a healthy diet plan that includes all
the essential nutrients and stay away from junk food. Wake up early. Most people are unable to indulge in
exercise, have breakfast and spend few quality moments with their loved ones in the morning. This is because
they do not walke up on tine. Malke it 8 habit to wale up early each morning so that you have enough time to
enjoy all these tasks. Exercise. Squeeze in at least half an hour each day to indulge in physical exercise of your
choice. You can choose to go for a walk, swim, practice yoga, deep breathing or do anything that interests you.
This helps in reducing stress. Sleep o tirme. Since you have to wale up early, it is essential to sleep on time.
You must ensure that you take at least seven to eight hours of sleep every day. Put your mobile aside. You
should rmake it a habit to keep yvour phone aside, while you are working to enhance productivity. Also keep
your phone at a distance whernl you are at home and spend quality time with vour family. The rays emitted by
mobile phones are harmful. It is thus suggested to keep it away, especially when you sleep at night. Connect
with positive minds. It is always good to be friends with people who bring in positivity in your life and stay
away from those who indulge in negative talks. Also, socialise with people who follow a healthy lifestyle, rather
than those who regularly indulge in unhealthy habits. Have Your Meals on Time. Make sure you do not skip
your breakfast or any other meal of the day. It is also suggested to have five to six small meals during the day,
rather than having three large ones. Follow your interest. [t is a good idea to squeeze in some time to follow
your hobbies, such as gardening, reading, writing or anything of your choice. These act as a good replacermnent
for the unhealthy habits and also help in keeping stress at bay.
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